ME 304 Mechanical Engineering Design (1)

Homework(4)

Q1

. An A-36 steel column has a length of 4 m and is

pmned at both ends. If the cross sectional area has the I
dimensions shown, determine the critical load.
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Q2

The A-36-steel tube is pinned at both ends. If it 100 mm
is subjected to an axial force of 150 kN, determine the

maximum length that the tube can safely support using the
AISC column design formulas.
80 mm

The 3-m-long bar is made of aluminum alloy 2014-T6. If it is fixed at its bottom and pinned at the
top, determine the maximum allowable eccentric load P that can be applied

Q3
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